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1 Introduction

Simulation assumptions for CPE to E-UTRA BS coexistence studies[1] were agreed in RAN4 Adhoc#2 meeting. In these agreed assumptions, however, ACIR model seems not to be appropriate in case of CPE coexistence of Band13 and Band14 since there is guard bandwidth of 1MHz between Band13 and Band14. Therefore it is necessary to clarify ACIR model in this case. In this contribution, revised ACIR model for CPE coexistence studies in Band 13 and Band 14 is proposed to reflect the realistic band configuration.
2 ACIR

For uplink it is assumed that the ACIR is dominated by the UE ACLR. ACIR model for bandwidth of 10MHz in TR36.942 [1] is shown in the following figure based on assumption that the LTE CPE or LTE UE has a contiguous 16 resource block (RB)s.


[image: image5.bmp]
Figure 1. ACIR model in TR36.942

ACLR1: 30 dB : 16 RBs close to channel edge of aggressor
ACLR2: 43 dB : 16RBs away from channel edge of aggressor

However, in case of CPE coexistence of Band13 and Band14, reminding there exists a guard bandwidth, ACIR model can be different from the one described above. Taking this guard bandwidth in mind, revised ACIR model can be described as Figures 2~4 in this case. Effective ACIR values can be calculated based on this observation and shown in Table 1.

[image: image2]
Figure 2. Effective ACIR when the aggressor is adjacent to the guard bandwidth
In Figure 2, when the aggressor is adjacent to the guard bandwidth, the corresponding ACIR is combination of ACIR1 and ACIR2 with the value of 31.7dB.

[image: image3]
Figure 3. Effective ACIR when the aggressor is 16RB away from the guard bandwidth
In Figure 3, when the aggressor is 16RB away from the guard bandwidth, the corresponding ACIR is ACIR2 and its value is 43dB.


[image: image4]
Figure 4. Effective ACIR when the aggressor is 32RB away from the guard bandwidth
In Figure 4, when the aggressor is 32RB away from the guard bandwidth, the corresponding ACIR is ACIR2 and its value is 43dB.
Finally, we can obtain effective ACIR values as in Table 1.  
Table 1. ACIR model in case of CPE coexistence of Band13 and Band14
	Frequency offset between aggressor (16RBs) and guard band
	Effective ACIR value (dB)

	0RBs
	32+X

	16RBs
	43+X

	(32RBs
	43+X


3 Conclusion
From the above analysis on ACIR in case of CPE coexistence in Band13 and Ban14, we can conclude that it is necessary to discuss further to clarity ACIR model considering guard bandwidth of 1MHz. 
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